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The following is an illustration of a certain process that occurs in mammals

+ Juice X     process P            

                               A fat molecule

(a)  Name process P……………………………………………………………  (1mark)

(b)  Name the juice involved in the process P
          …………………………………………………………………………    (1 mark)

(c)  List two Salts found in the juice name in (b) above that aids in process P     (2 marks)

………………………………………………………………………………………………………...……………………………………………………………………………………

(d)  Give a reason why liver damage leads to impaired digestion of fats
        (1 mark)

………………………………………………………………………………………………………………………………………………………………………………………………

(e)  What would be the likely effect on digestion if the small intestine of a human is reduced in an operation?


                                                        (2 marks)

………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………
(f) State the fate of excess glucose in the human body.                                         (1 mark)
……………………………………………………………………………………………………………………………………………………………………………………………

2. The diagrams below shows samples of blood obtained from two different persons A and B.                                                                                                            [image: image1.png]


 [image: image2.png]



Blood sample from person A                         Blood sample from person B
a)  What genetic disorder is person B suffering from?


(1 mark)

………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………

(b)  State one advantage and one disadvantage of the disorder in (a) above  when its in heterozygous state.                                                                                          (2 marks)

………………………………………………………………………………………………

………………………………………………………………………………………………

………………………………………………………………………………………………


(c)  Work out the genotypes and phenotypes of the resulting offsprings of marriage between person A and person B






   (5 marks)

………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………

………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………
3. The diagram below represents the pathways of water from the soil into the plant.
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 (a)Name the parts X, Y and Z.





       (3marks)

X………………………………………………………………………………………………Y……………………………………………………………………………………………Z…………………………………………………………………………………………………

(b)  Explain how water moves from point X to Z. (5mks)
 …………………………………………………. …………………………………………  
………………………………………………………………………………………………
……………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………..
………………………………………………………………………………………………4. During an ecological study of a grassland ecosystem, a group of students recorded the following observations.

i. Grasshoppers feed on grass

ii. Guinea fowls feed on grasshoppers, termites 

iii. Vultures feed on guinea fowls and leopards

iv. Leopards feed on gazelles

v. Termites feed on grass

vi. Gazelles feed on grass
 (a)  From this record of observations construct a food web.

            (4 marks)

………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………
………………………………………………………………………………………………………………………………………………………………………………………………
(b)  Write down, the food chains in which the guinea fowls are secondary consumers.     (2 marks)

………………………………………………………………………………………………………………………………………………………………………………………………

(c)  Name the organisms through which energy from the sun enters the food web.           ……………………………………………………………………………(1 mark)
(d)  Name the organism that has the least biomass in the food web.

       (1mark)


………………………………………………………………………………………………

5. Below is a chemical equation, study it and answer the questions that follow:-

                                                                     

Carbon (IV) oxide + water                                   Oxygen + glucose

(a)  Name process A and B
                 (2 marks)
A………………………………………………………
  B………………………………………………………                                            


(b)  What is the biological significance of process A 


    (1 mark)

………………………………………………………………………………………………
………………………………………………………………………………………………
………………………………………………………………………………………………
(c)  In which organelle does process A and B take place?                                  (2 marks)

   A……………………………………………      
    B……………………………………….

 (d)  Name two stages of process B




               (2 marks)
………………………………………………………………………………………………

………………………………………………………………………………………………
(e)  Define compensation point                                                                               ( 1mark)
………………………………………………………………………………………………

………………………………………………………………………………………………
SECTION B (40 MARKS)

Answer Question 6 (Compulsory) And Either Question 7 Or 8 In The Spaces Provided After  Question 8

6. The graph below shows changes in pH and oxygen saturation in river water over a 24  hour period


[image: image3]
a)  when is the pH value and dissolved oxygen saturation % highest?
     (2 marks)

………………………………………………………………………………………………

………………………………………………………………………………………………

(b)  Account for the pH value recorded

(i) Between 08.00 and 1.00 p.m





   (2 marks)
………………………………………………………………………………………………

………………………………………………………………………………………………

………………………………………………………………………………………………

(ii) Between 2100 and 2400 midnight                                                                 (2 marks)
………………………………………………………………………………………………

………………………………………………………………………………………………

……………………………………………………………………………………………… (c)  Explain the influence of light intensity on % saturation of oxygen dissolved in this study                                                                                                                    (4 marks)

………………………………………………………………………………………………

………………………………………………………………………………………………

………………………………………………………………………………………………
………………………………………………………………………………………………

………………………………………………………………………………………………
………………………………………………………………………………………………
(d)  State two structural adaptations that the submerged plants in this river have, which enable them to carry out photosynthesis



            (2 marks)
………………………………………………………………………………………………

………………………………………………………………………………………………

………………………………………………………………………………………………
(e)  Explain the variations that will be recorded if a similar study was carried out in a river near a nitrate fertilizer industry.





(4 marks)

………………………………………………………………………………………………
………………………………………………………………………………………………

………………………………………………………………………………………………
………………………………………………………………………………………………
………………………………………………………………………………………………
………………………………………………………………………………………………
7. Explain the various ways in which a typical cell is adapted to its functions (20 marks)
8. Discuss the causes, effects and control measures for water pollution           (20 marks) ………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………
………………………………………………………………………………………………………………………………………………………………………………………………
………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………
………………………………………………………………………………………………………………………………………………………………………………………………
………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………
………………………………………………………………………………………………………………………………………………………………………………………………
……………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………….…………………………………………………………..…………………………………………………………………………………………………
………………………………………………………………………………………………………………………………………………………………………………………………
……………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………...........................
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